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1. B npasnnuHOU Nnpe
paBHbl ,Tqua . —|C¢

PeweHune. ICKOMBIW YIoJ =‘ ny | ' p |‘ le/I SBC-paBHOCTOPOHHUNA.
BE — 6uccekTpuca yrna = 608 YronmCBE PaBe

il

OtBeT: 30.



2. B npaBunbHOM 6-o1 nimpamMmuae SABCDEF, bokoBble pebpa
KOTOPOW paBHLI 2, a pebpaocHoBaHua — 1, HanguTe yron
MeX ' npaMbiMu SAn BC.
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Pemenue: MCKoMbin yré p
SAD — paBHOCTOPOHHUH, C

SAD. I peyronsHUK
0, = 60°.



C2: B npaBuiibHOU LLeG

nyrornbHou npusme A...F1,

Yron mexxay BD; n AB; paseH yrny
mexxay BD; n DiE: D4E||ABy; D1E=ABj;
Paccmotpum ABD4E: BE=2; BDy=2;

u3 ABD,D: ED;=+/2;

no Teopeme KOCHHYCOB:

4= 4+2-2-2-\/ECOS(p; 4ﬁcos<p=2;










